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CHol: DAY (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
AEN AR A 8,066,421 4,750,378 3,316,043
2 150,000 0 150,000
[ 75,000 0 75,000
2 7,841,421 4,750,378 3,091,043
2 DB BE U D(SEHLUDT/B) 3,441,312 2,789,322 651,990
ZHR ALl et 3,441,312 2,789,322 651,990
et HEE 272 2,456,975 2,003,985 452,990
201 L2 630,260 592,260 38,000
02 222 485,320 447,320 38,000
OA&RY SXdl 201,920 163,920 38,000
—JHetet AIE SRR 2R 1,500,000 * 405 60,000 40,000 20,000
~BS0IBAE AERX
A 14,000,000 * 35 42,000 24,000 18,000
401 AlAHI 2L 200 853,000 453,000 400,000
01 Al&H| 850,000 450,000 400,000
O3Meter B2 At 100,000, 000 100,000 0 100,000
OXiets (MEI2st3&) AENA
2 600,000,000 600,000 300,000 300,000
405 KAk S 555,990 541,000 14,990
01 ML 2EFESY 555,990 541,000 14,990
OHAB BE(XHYRE) 2,000,000 2,000 0 2,000
OZ2IALR 4 LED TVR Y 850,000 * 1CH 850 0 850
ORZEME PCRY 1,240,000 * 2CH 2,480 0 2,480
O#FEIIFIE ¢ 6,000,000 * 1CH 6,000 0 6,000
ogeH(1eI2) IIEH Y 172,000 * 30CH 5,160 0 5,160
OFIXNEH 7 A& 19,500,000 19,500 21,000 A 1,500
HOolAN =X MIE 2H9 2 125,000 76,000 49,000
401 AlEHI 2 =20hY| 125,000 76,000 49,000
01 Al&HI 125,000 76,000 49,000
O2JIHEH HMEA &I B A AF 0 0 10,000 A 10,000
OQQIARMITI A HYE L2 AL ZE22,000,000 22,000 38,000 A 16,000
SIMEANE HES A 40,000,000 40,000 0 40,000
O2YslA 2lpaal 10,000,000 10,000 0 10,000
ORYLE 52 Y XA 25,000,000 25,000 0 25,000
SHSH 2 29 294,489 194,489 100,000
401 Al HI 2L 200 130,000 30,000 100,000
01 Al&H| 130,000 30,000 100,000
Os8ss 3 AMESX 2L
2 & 130,000,000 130,000 30,000 100,000
013t 29 22 564,848 514,848 50,000
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401 Al HI 2 2 bl 100,000 50,000 50,000

01 Al&HI 100,000 50,000 50,000

OB Sl 22T A 30,000,000 30,000 0 30,000

OBBOHYB HXBA 10,000,000 10,000 0 10,000

OWEL 2122 10,000,000 10,000 0 10,000
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= 150,000 0 150,000

= 75,000 0 75,000

2 3,895,830 1,896,830 1,999,000
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=2 150,000 0 150,000
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2 150,000 0 150,000
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225,000,000 225,000 0 225,000
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= 75,000 0 75,000
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02 BINFARE 200,000 0 200,000

O=M £2 ¥ 8 18 200,000,000 200,000 0 200,000

HS=H N 2,687,600 917,600 1,770,000

201 L2 | 2,338,400 888,400 1,450,000

03 #AHE F H 2,300,000 850,000 1,450,000

OM53 Xete AN AS=H

23 2,300,000,000 2,300,000 850,000 1,450,000

207 &R p Lt 20,000 0 20,000

01 R B 20,000 0 20,000
OO NetEMM HEEX B2

20,000,000 20,000 0 20,000
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401 AIEHI 2 20| 300,000 0 300,000

04 SAFHRI Al Z Y] 300,000 0 300,000

OHS=ME =4 300,000,000 300,000 0 300,000

H A2 27,780 18,780 9,000

405 Xt &HE SHI 9,000 0 9,000

01 IMUSEFHSH 9,000 0 9,000
OANSA W2ZEI| WH (MU 2ELE)

9,000,000 * 1CH 9,000 0 9,000

WIS (RILAZ /2L I AL 440,053 0 440,053

2AXE 440,053 0 440,053

ERSPAES 440,053 0 440,053

802 Et&t =2 | E 440,053 0 440,053

01 2nEx3srez 316,225 0 316,225

OXiete #HIE == 309,575,000 309,575 0 309,575

OXtetd HEH 2oil=7(01X) 6,615,000 6,615 0 6,615

OM93l Xtetd M AEI (01X 35,000 35 0 35

02 Al - SHIEXESEHE3 123,828 0 123,828

OXete HTE 2= 123,828,000 123,828 0 123,828




